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BACHELOR OF SCIENCE  

(GENERAL) (BSCG) 

Term-End Examination 

June, 2024 

BZYCT-133 : COMPARATIVE ANATOMY AND 

DEVELOPMENTAL BIOLOGY OF VERTEBRATES 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 7. 

Draw well-labelled diagrams wherever 

necessary.  

1. (a) Fill in the blanks with suitable words : 

1×5=5 

(i) Dermal bones are most prominent  

in ............. . 
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(ii) The ............. is the outer layer of 

epithelial tissue. 

(iii) Testosterone is secreted by ............. . 

(iv) The cave dwelling bat produces 

ultrasonic sounds by ................ . 

(v) The mascular layer of the uterus is 

called ................. . 

(b) Define the following terms : 5×1=5 

(i) Blastoderm 

(ii) Intromittent organ 

(iii) Karyokinesis 

(iv) Endocrine signaling 

(v) Cranial nerves 

2. (a) Describe the different types of feathers in 

birds.  5 

(b) Discuss the structure of pelvic girdle of 

frog.   5 
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3. (a) Explain the digestive system of ruminants 

with the help of a well-labelled diagram. 5 

(b) Briefly discuss the mechanism of 

pulmonary respiration in frog. 5 

4. Give a comparative account of the olfactory 

system of vertebrates. 10 

5. (a) Differentiate between any two of the 

following : 2×2.5=5 

(i) Somatic and Autonomic Nervous 

system 

(ii) Cell specification and differentiation 

(iii) Cadherins and integrins 

(iv) Asexusal and sexual reproduction 

(b) Explain the process of spermatogenesis ? 

5 

6. Write short notes on any two of the following : 

2×5=10 

(i) Nephron as a functional unit of Kidney 
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(ii) Fate map of Amphibian blastula 

(iii) Folding of Embryo 

7. (a) Mention the major developmental changes 

after birth. 5 

(b) Write a brief note on Neuroendocrine 

glands. 5 
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1×5=5 

(i)  
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(ii)  

(iii) 

(iv) 

(v)  

5×1=5 

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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2×2.5=5 

(i) 

(ii) 

(iii) 

(iv) 
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2×5=10 

(i) 

(ii) 

(iii) 
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